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• Research students may apply to change their mode of attendance from full-time to
part-time and vice-versa.

• The conversion is worked out by counting the number of months the candidate has
completed, either FT or PT, converting this to the equivalent of either FT or PT, as
appropriate, and then subtracting this result from the total number of months required
for the degree using the new attendance mode.

• The result is the number of months the candidate must do to complete the
registration.

• To find the new completion date the number of remaining months must be counted
from the date that the candidate changed attendance mode.

PhD 

A PhD takes 3 years (36 months full-time) or 5 years (60 months) part-time. Please note 
that this is minimum registration time and does not include a Continuation Category (which 
under normal circumstnaces is 12 months for both FT and PT students). 

36 = number months FT registration or 3 = FT 
60 number months PT registration 5 PT 

To calculate FT to PT, divide the number of months completed by 3 and multiply it by 5 to 
provide the equivalent number of part-time months completed. 

e.g. For 12 months FT completed: 12 divided by 3 =  4; 4 x  5 = 20, therefore the equivalent 
of 20 months’ PT have been completed and 40 left (60-20 = 40). 

To calculate PT to FT, divide the number of months completed by 5 and multiply it by 3 to 
provide the equivalent number of full-time months completed.   

e.g. For 12 months’ PT completed: 12 divided by 5= 2,4; 2,4 x 3= 7,2, therefore the equivalent of 7,2 
(~7) months FT have been completed and 29 left (36-7 = 29). 

MPhil 

An MPhil takes 24 months full-time or 36 months part-time.  

24 = number months FT registration or 2 = FT 
36 number months PT registration or 3 PT 

To calculate FT to PT, divide the number of months completed by 2 and multiply it by 3. 

e.g. For 8 months FT: 8 divided by 2 = 4, 4 x 3 = 12, therefore  the equivalent of 12 months ‘ 
PT have been completed and 24 left (36-12 = 24). 

To calculate PT to FT, divide the number of months completed by 3 and multiply it by 2. 

e.g. For 15 months PT: 15 divided by 3 = 5, 5 x 2 = 10, therefore the equivalent of 10 months 
FT have been completed and 14 left (24-10 = 14). 
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MA/MSc/LLM 

A MA/MSc/LLM takes 12 months full-time or 24 months part-time.  

12 = number months FT registration or 1 = FT 
24 number months PT registration 2 PT 

To work out FT to PT, multiply the number of months completed by 2. 
e.g. For 3 months FT completed: 3 x 2 = 6, therefore the equivalent of 6 months PT 
completed and 18 left (24-6 = 18). 

To work out PT to FT, divide the number of months completed by 2. 

e.g. For 3 months PT completed: 3 divided by 2 = 1.5, therefore the equivalent of 1.5 months 
FT completed and 10.5 left (12-1.5 = 10.5). 




